T f(x) =% g(x) = x+ 200 Sk (f 0 g)(x) 5 T3t

@f o)) = (x+2 @ (f o g)(x) =22 +2
® (f o gx)=(x-2) @ (f o g)x)=x*-2
® (f o g)x) =22 +2

T & f(x) = 22, g(x) = x+ 29| 5t
(f o 9)(x) = fg(x) =f(x+2)= (x+2)?




A% A o] A5 R N4 R 29] A 4= £, g, h o Thsted (hog)(x) =
3x+4, f(x)=x* 4 ™, (ho(go f))(2) 9 7_% Zhodat,
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3. T4 () = ar+ b g(x) =
451 19 BRFRZAL DA
@azlE—‘Eb:c @ a=1
@ b=c @ a=
® a=0

(feog)x) = f(g(x) = flax+c)

=alax+c)+b

=a’x+ac+b
oA 2 (go f)(x) = a’x +ab + ¢
sac+b=ab+c

=, (a-1)(b-¢)=0
La=1E=p=c¢




4. 5 FTFFEx+1) = v+ 28 AEG T, £(3) 9] FHS TFHhE?

® 1 @ 2 ® 3 @1 @)

f2x+1)=3x+2°A 2x+1=3°|E=&
x=1+< tiYstH
f@2-14+41)=f3)=3-1+2=5




A AR A RAMR B G f 7 f x> x+1 2 5014
wf, f2005(2) O] e Ak (F, fL = f, fL = fof 2

AA)

® 2002 @ 2004 ® 2006 @2008 ® 2010

) =ff(x)=(x+1)+1=x+2
) =) =(x+2)+1=x+3
) =f(fPx)=(x+3)+1=x+4

ool A f1(x) = x+n o|EE
£2996 (1) — x + 2006
o f2096(2) = 2 + 2006 = 2008




